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Visaokay assists the Australian travel industry, corporations and government, and
individuals by the entire visa advice and visa issuance process. Visaokay
minimizes the complexity and time delays associated with applying for and obtaining
travel visas.

@ appreciating

@ aggravating

® meditating

@ facilitating

1. Visaokay assists the Australian travel industry, corporations and government, and
individuals by the entire visa advice and visa issuance process.
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2) by the entire visa advice and visa issuance process.
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2. Visaokay minimizes the complexity and time delays associated with applying for and

obtaining travel visas.

1) Visaokay minimizes the complexity and time delays
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2) associated with applying for and obtaining travel visas.
« (which were) associated with applying for and obtaining travel visas.
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% the complexity and time delays associated with applying for obtaining travel
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- associated with applying for obtaining travel visas.
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Given our awesome capacities for rationalization and self-deception, most of us are
going to measure ourselves : | was honest with that blind passenger because
I'm a wonder person. | cheated the sighted one / because she probably has too much
money anyway.

® harshly

@ leniently

® honestly

@ thankfully

1. Given our awesome capacities for rationalization and self-deception, most of us are
going to measure ourselves

<2371z 24>
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Given his age, he's remarkably active.
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« Given her interest in children, teaching seems the right job for her.
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2. most of us are going to measure ourselves
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@ harshly AZEA|

@ leniently EHCHSHA|
® honestly HZI5HA|
@ thankfully D2

2. : | was honest with that blind passenger because I'm a wonder person. | cheated
the sighted one because she probably has too much money anyway.
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1) | was honest (with that blind passenger) because I'm a wonder person.
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2) | cheated the sighted one because she probably has too much money anyway.
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3.
A: Look at this letter.
B: Ah yes, | thought it was something official looking.

Ho

You're being fined for exceeding the speed limit, it

says. Why weren't you fined on the spot?

A:

B: They're installing more and more of them around here.

You're going to have to be more careful in future.

A: You're not kidding. The fine is $60.

@ Because the spot was to busy to be fined

@ Because | could not find any camera to take it

® Because | already paid for it when | was fiend

@ Because | was photographed by one of speed cameras



*' A Look at this letter.
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B: Ah yes, | thought (that) it was something official looking.
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You're being fined for exceeding the speed limit, it says.
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- It says (that) you're being fined for exceeding the speed limit,
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Why weren't you fined on the spot?
- of 3 Xt2|0 M (on the spot) HES EX| LUL|?

A:
@ Because the spot was to busy to be fined
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@ Because | could not find any camera to take it
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® Because | already paid for it when | was fiend
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@ Because | was photographed by one of speed cameras
- LIS Li7F SEAX|FIH 2t T SHLEO| AFEIO] HE A=
B: They're installing more and more of them around here.
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You're going to have to be more careful in future.
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A: You're not kidding. The fine is $60.
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Tom : Frankly, |1 don't think my new boss knows what he is doing.
Jack: He is young, Tom. You have to give him a chance
Tom: How many chances do | have to give him? He's actually doing terribly.
Jack:
Tom: What? Where?
Jack: Over there. Your new boss just around the coner.
@ Speak of the devil
@ | wish you good luck

® Keep up the good work
@ Money makes the mare go
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Tom : Frankly, | don't think my new boss knows what he is doing.
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Jack: He is young, Tom. You have to give him a chance
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Tom: How many chances do | have to give him? He's actually doing terribly.
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Jack:
@ Speak of the devil.
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@ | wish you good luck.
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® Keep up the good work.
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@ Money makes the mare go.
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Tom: What? Where?

- H?2 ogy?

Jack: Over there. Your new boss just around the coner.
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@ Few living things are linked together as intimately than bees and flowers.

@ My father would not company us to the place where they were staying, but insisted
on me going.

® The situation in Iraq looked so serious that it seemed as if the Third World War
might break out at any time.

@ According to a recent report, the number of sugar that Americans consume does not
vary significantly from year to year.

@ Few living things are linked together as intimately than bees and flowers.
0 besAt EOf

- i 2TF ORUA M2 dtE M= A2l BiCHfew).

- as ~ as ®& HlW7 Z|0fof &t7| WZ0| than -> as

@ My father would not company us to the place (where they were staying),
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but insisted on me going.
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- company -> accompanyZ 1X{O0f &



- butez GZE SEHEEE)
« My father would not company us to the place
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« the place (where they were staying),
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« My father would not company us to the place (where they were staying),
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* but insisted on me going.
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- but (my father) insisted on me going.
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2l 2% : company -> accompany, me -> my

® The situation in Iraq looked so serious that it seemed as if the Third World War
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might break out at any time.
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that it seemed as if the Third World War might break out (at any time).
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@ According to a recent report, the number of sugar (that Americans consume) does
0 SAF

not vary (significantly) (from year to year).
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Noise pollution @ is different from other forms of pollution in @ a number

of ways. Noise is transient: once the pollution stops, the environment is free
of it. This is not the case with air pollution, for example. We can measure the
amount of chemicals ® introduced into the air, @ whereas is extremely

difficult to monitor cumulative exposure to noise.

@ is different from
@ a number of ways
® introduced into
@ whereas is

1. Noise pollution @ is different from other forms of pollution in @ a number of ways.
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2. Noise is transient: once the pollution stops, the environment is free of it.
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3. This is not the case with air pollution, for example.
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4. We can measure the amount of chemicals @ introduced into the air, @ whereas is

extremely difficult to monitor cumulative exposure to noise.

1) We can measure the amount of chemicals <®(which were) introduced into the
air>,
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2) @ whereas _is extremely difficult to monitor cumulative exposure to noise.
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-> whereas it  is extremely difficult to monitor cumulative exposure to noise.
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The older you grow, the more difficult it becomes to learn a foreign language.
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The learning and knowledge that we have is at the least but litle compared with that

of which we are ignorant.
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The secret of life is not to do what one likes, but to try to like what one has to do.
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What you possess in this world will go to someone else when you die, but your

personality will be yours forever.
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The older you grow, the more difficult it becomes to learn a foreign language.
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- you grow, the more difficulf it becomes to learn a foreign language.
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The learning and knowledge (that we have) _is (at the least) but little compared with
SRy SA 20
that of which we are ignorant.

1) The learning and knowledge (that we have) is (at the least) (but) little
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The learning and knowledge (that we have) is (at the most) (but) little.
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2) compared with that of which we are ignorant.
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(when the learning and knowledge was) compared with that of which we are

ignorant.
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« The weather of Seoul is milder than that of London
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* be ignorant of= don't know?2| 5

the learning and knowledge (which) we are ignorant of
= the learning and knowledge which we don't know.



At that time | was ignorant of the event.
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that of which we are ignorant.

- that2 “the learning and knowledge"S 7t2|Z.

- the learning and knowledge (which) we are ignorant of.

- the learning and knowledge of which we are ignorant.
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» The secret of life is not to do what one likes,
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= The secret of life is not to do the thing which one likes, (what = the thing which)
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e but to try to like what one has to do.
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What you possess (in this world) will go to someone else <when you die>,
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but your personality will be yours forever.
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The house which they have lived for 10 years badly damaged by the storm.
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It was not until when he failed the math test that he decided to study hard.

® d¥no HE AO0| St HOLAX| LropM, ofZUE0 22|= 2AS sHoF RACL.

We had nothing to eat left in the refrigerator, we had to eat out last night.

@ 2= 20| FAE JAWENHS YER=H, AH7|ol= BX[7F OFFCH2 XO0| BCL.
We were enough fortunate to visit the Grand Canyon, that has much beautiful
landscape.
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The house (which they have lived for 10 years) badly damaged by the storm.
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« they have lived for 10 years= 2tE{st 2%,

-> A|®|Z} 3t 0|7| U{20] have lived -> had lived2 DX F0{0f &1

-> they had lived in the house for 10 years.
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-> in which they had lived for 10 years.
« =SEf 2&0[|22 damaged -> was damagedZ!!!
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: have lived(->had lived), which(->in which), damaged(-> was damaged)
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It was not until when he failed the math test that he decided to study hard).
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¢ | did not learn English until | came to America.
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1) not until 25 E£X|
* Not until | came to America did | learn English.

<- Not (until I came to America) did | learn English.
; 2780] notO| 250 L7t =X|7F Lot 2F.
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2) H[G(it be~ that) ZEXT&
o It was not until | came to America that | learned English.
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B.
« 1 did not get the news until last night.

1) not until 25 TX|
« Not until last night did | get the news.
<- Not (until last night) did | get the news.

2) AH|%(it be~ that) ZZT7E

« It was not until last night that | got the news.

-> It was not until last night when | got the news.
(<- | got the news in the night.)

@ He did not decide to study hard until (the time) when he failed the math test
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-> Not (until when he failed the math test) did he decide to study hard.(=%X|)

-> It was not (until when he failed the math test) that he decided to study hard.
(AH| S Z=7E)

->0= A0 Hufstl LhAOF HIZA EHD| SFOHV|2 AU

*x GO M=z & =%

ol BRg Azt FHAL Taw
O

@ 22l 20 FA: 2WENEDS YEH=H, AH2I0= BX|7t ohECt2 0| BiCth



We were enough fortunate to visit the Grand Canyon, that has much beautiful
0] A 20 0| SA
landscape.
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A. We were enough fortunate to visit the Grand Canyon,
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: enough money
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. old enough, beautiful enough, much enough
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+ We were enough fortunate to visit the Grand Canyon,
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-> We were fortunate enough to visit the Grand Canyon,
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B. , that has much beautiful landscape.
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-> , which has much beautiful landscape.
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We need to iron out a few problems first.

@® conceive @ review ® solve @ pose

€2



We need to iron out a few problems first.
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» iron out
1. (FE2) Ctelol Wz mohelofch 2. (M E) gtofchEr=Tch

o | think there are a few details to iron out.
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We need to iron out a few problems first.
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O In Korea, the eldest son tends to ) a lot of responsibility.
O The same words © different meaning when said in different ways.

(Dtake over (@take down Btake on @take off

1. In Korea, the eldest son tends to <) a lot of responsibility.
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2. The same words © different meaning when said in different ways.
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1) when said in different ways.= EAITE
ZAITES HFESN



-> when (the same word are) said in different ways.
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-> when being said in different ways. 30 &}
-> when said in different ways. being ‘4 &t
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2) The same words (®) different meaning
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The space shuttle Challenger had just taken off for its tenth flight in January
1986 when it exploded in the air and killed all seven people inside. Millions of
people around the world were watching the liftoff because schoolteacher Christa
McAuliffe was on board. McAuliffe, who had been chosen to be the first
teacher in space, was planning to broadcast lessons directly to schools from the
shuttle's orbit around Earth. This Challenger disaster led NASA to stop all space
shuttle missions for nearly three years while they looked for the cause of the
explosion and fixed the problem. They soon discovered that the shuttle had a
faulty seal on one of the rocket boosters. Unfortunately, the teacher-in-space
program was indefinitely put on hold. So were NASA's plans to send musicians,
journalists, and artists to space.

@®Schoolteacher Christa McAuliffe's pioneering participation in the space program
@The reason why the American space program was put on hold
®The importance of the space research and training of astronauts



@A satire on the unsuccessful or tragic space missions

1. The space shuttle Challenger had just taken off for its tenth flight in January 1986
when it exploded in the air and killed all seven people inside.
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The space shuttle Challenger had (just) taken off (for its tenth flight) (in January 1986)
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2) The space shuttle Challenger had (just) taken off (for its tenth flight) (in January
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1986)
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2. Millions of people around the world were watching the liftoff because schoolteacher

Christa McAuliffe was on board.
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Millions of people around the world were watching the liftoff (because schoolteacher
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Christa McAuliffe was on board).
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because schoolteacher Christa McAuliffe was on board.
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Millions of people (around the world) were watching the liftoff
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3. McAuliffe, who had been chosen to be the first teacher in space, was planning to
broadcast lessons directly to schools from the shuttle’s orbit around Earth.
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McAuliffe, (who had been chosen to be the first teacher in space), was planning
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to broadcast lessons directly to schools from the shuttle’s orbit around Earth.
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1) McAuliffe, (who had been chosen to be the first teacher in space)
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2) to broadcast lessons (directly) (to schools) (from the shuttle's orbit) (around Earth).
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4. This Challenger disaster led NASA to stop all space shuttle missions for nearly three
years while they looked for the cause of the explosion and fixed the problem.
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This Challenger disaster led NASA to stop all space shuttle missions (for nearly three
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This Challenger disaster led NASA to stop all space shuttle missions (for nearly three
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5. They soon discovered that the shuttle had a faulty seal on one of the rocket
boosters.
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They soon discovered that the shuttle had a faulty seal on one of the rocket
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boosters.
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that the shuttle had a faulty seal (on one of the rocket boosters).
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6. Unfortunately, the teacher-in-space program was indefinitely put on hold.
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Unfortunately, the teacher-in-space program was (indefinitely) put on hold.
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7. So were NASA's plans to send musicians, journalists, and artists to space.
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1) So were NASA's plans (to send musicians, journalists, and artists to space).
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A: | am so sleepy.

B: Are you? So am I. (L5 112f)
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(2) So were NASA's plans to send musicians, journalists, and artists to space.
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@®Schoolteacher Christa McAuliffe's (pioneering) participation (in the space program)
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@The reason why the American space program was put on hold
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®The importance of the space research and training of astronauts
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and one of eighteen treated with the venom.

A team of researchers has found that immunizing patients with bee venom instead of
with the bee's crushed bodies can better prevent serious and sometimes fatal sting
reactions in the more than one million Americans who are hypersensitive to bee
stings. The crushed-body treatment has been standard for fifty years, but a report
released recently said that it was ineffective. The serum made from the crushed
bodies of bees produced more adverse reactions than the injections of the venom
did. The research compared results of the crushed-body treatment with results of
immunotherapy that used insect venom and also with results of a placebo. After six
to ten weeks of immunization, allergic reactions to stings occurred in seven of twelve
patients treated with the placebo, seven of twelve treated with crushed-body extract,

@A new treatment for people allergic to bee stings

@A more effective method of preventing bee stings

®The use of placebos in treating hypersensitive patients
@Bee venom causing fatal reactions in hypersensitive patients



1. A team of researchers has found that immunizing patients with bee venom
g instead of with the bee's crushed bodies can better prevent serious and
“ sometimes fatal sting reactions in the more than one million Americans who
are hypersensitive to bee stings.
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A team of researchers has found that immunizing patients with bee venom instead of
= SA ZHO(FAE that)

with the bee's crushed bodies can better prevent serious and sometimes fatal sting

reactions in the more than one million Americans who are hypersensitive to bee stings.
(2.
. ‘ g
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that immunizing patients (with bee venom instead of with the bee's crushed bodies) can
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better prevent serious and sometimes fatal sting reactions in the more than one million
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Americans who are hypersensitive to bee stings.
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(1) immunizing patients (with bee venom) (instead of with the bee's crushed bodies)
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(2) immunizing patients can better prevent serious and sometimes fatal sting reactions
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(3) in the more than one million Americans (who are hypersensitive to bee stings).
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2. The crushed-body treatment has been standard for fifty years, but a report released
recently said that it was ineffective.

<2% 7= 24>

The crushed-body treatment has been standard for fifty years,
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but a report <(which was) released recently> said that it was ineffective.
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1) The crushed-body treatment has been standard for fifty years,
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2) but a report <(which was) released recently> said that it was ineffective.
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3. The serum made from the crushed bodies of bees produced more adverse reactions
than the injections of the venom did.
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The serum (made from the crushed bodies of bees) produced more adverse reactions
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than the injections of the venom did.
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1) The serum (which was) made from the crushed bodies of bees
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2) The serum produced [moré adverse reactions the injections of the venom did.
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4. The research compared results of the crushed-body treatment with results of
immunotherapy that used insect venom and also with results of a placebo.
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The research compared [results of the crushed-body treatment results of
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immunotherapy (that used insect venom) and also results of a placebo.
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1) The research compared results of the crushed-body treatment with results of

=Y SA =50
immunotherapy and (also) with results of a placebo.
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5. After six to ten weeks of immunization, allergic reactions to stings occurred in seven
of twelve patients treated with the placebo, seven of twelve treated with crushed-body
extract, and one of eighteen treated with the venom.

<BE 1Z 24>
1) After six to ten weeks of immunization,
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@in seven of twelve patients treated with the placebo,
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@seven of twelve treated with crushed-body extract,
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@A new treatment for people allergic to bee stings
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@A more effective method of preventing bee stings
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It can sometimes feel as if South Korea, overworked, overstressed and ever anxious, is

a national nervous breakdown, with a rising divorce rate, students who feel
suffocated by academic pressures, a suicide rate among the highest in the world and
a macho corporate culture that still encourages blackout drinking sessions after work.
More than 30 Koreans kill themselves everyday, and the suicides of entertainers,

politicians, athletes and business leaders have become almost commonplace.

@by virtue of (@as opposed to @®@in favor of  @on the verge of

1. It can sometimes feel as if South Korea, overworked, overstressed and ever anxious,
is a national nervous breakdown, with a rising divorce rate, students who
feel suffocated by academic pressures, a suicide rate among the highest in the world
and a macho corporate culture that still encourages blackout drinking sessions after

work.



@y SHXITH FO| SAE ¥ Row OfF zers BRYLL
&
'l. It can sometimes feel as if South Korea, overworked, overstressed and ever

anxious, is a national nervous breakdown, with a rising divorce rate,
students who feel suffocated by academic pressures, a suicide rate among the highest
in the world and a macho corporate culture that still encourages blackout drinking

sessions after work.

1) It can sometimes feel as if~

Of SAF FAHE

ol

* ItCFSO| 00 siEgst= YAHE2 HO|X| &, as if7t 2YILIC

as if= "OFK| ~ M ol ZYLIC
JejM "OtA| as if..0[5tQt 22 = &S = W7h ACk et S S FLC

710
— 0O
0 #AHE. 2|1 ojmfel it2 1'd welt peopleZ2 Moz ELICE

A

. 70| SR 0|20F 184 2%

« SN - (RE2]E, AHRER) as ifO|stet Z2 =740 FF & M7t UL

2) as if South Korea, (overworked, overstressed and ever anxious,) is a
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2) South Korea is a national nervous breakdown,
0 SAE
® by virtue of ~2| O|Eo 2 @ as opposed to ~2 HHH=Z
@ in favor of ~2| 2|2 @ on the verge of ~5}7| E Q|

- g2 2t o AlZz|oto] AfEfO|Ct,
- 30| beSALR O|20{7 184l 27

3) with a rising divorce rate, students who feel suffocated by academic pressures, a
suicide rate among the highest in the world and a macho corporate culture that still
encourages blackout drinking sessions after work.
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(1) with a rising divorce rate,
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(2) students (who feel suffocated by academic pressures),
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(3) a suicide rate among the highest in the world
- MACM 7S =2 XHEE,

(4) and a macho corporate culture (that still encourages blackout drinking sessions after
work).
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2. More than 30 Koreans kill themselves everyday, and the suicides of entertainers,
politicians, athletes and business leaders have become almost commonplace.
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More than 30 Koreans kill themselves everyday, and _the suicides of entertainers,
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Strategic thinking can make a positive impact on any area of life. The first step in

strategic thinking is to so that you can focus on it

more effectively. That's what automotive innovator Henry Ford did when he created
the assembly line, and that's why he said, "Nothing is particularly hard if you divide it
into small jobs." He also said, "Only one person in a million can juggle the whole
things at the same time and think strategically to create solid, valid plans.” He is well
known for his habit of splitting tasks. Right before the beginning of each weekday, he
would think about daily issues, prioritizing the issues for the weekday. He made a rule

to deal with the issues only allotted for the day.




@® make a habit of taking notes

@ break down an issue smaller

® deal with daily tasks without delay
@ think twice before setting to a work

1. Strategic thinking can make a positive impact on any area of life.
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Strategic thinking can make a positive impact (on any area of life).
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2. The first step in strategic thinking is to so that you
can focus on it more effectively.
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The first step (in strategic thinking) _is to (so that
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you can focus on it more effectively).
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@® make a habit of taking notescEZS 7|Edt= &S THEC}

@ break down an issue smallerO|7+S =tH £l5ICt.

® deal with daily tasks without delayX|¥ 210| stF [ E X2|BtCt
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3. That's what automotive innovator Henry Ford did when he created the assembly line,
and that's why he said, "Nothing is particularly hard if you divide it into small jobs."
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(1) That's what automotive innovator Henry Ford did

<- That is the thing (which automotive innovator Henry Ford did).
- BAEAL what = the thing which

- A" 2)0] ASAe| A7t dle] ZETF oF Ao|CH

—
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2) and that's why he said, "Nothing is particularly hard if you divide it into small jobs."
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(2) "Nothing _is particularly hard (if you divide it into small jobs)."
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4. He also said, "Only one person in a million can juggle the whole things at the same
time and think strategically to create solid, valid plans.”
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2) "Only one person (in a million) can juggle the whole things at the same time
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He ell known for his habit of splitting tasks.
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6. Right before the beginning of each weekday, he would think about daily issues,
prioritizing the issues for the weekday.
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(2) he would think about daily issues, prioritizing the issues for the weekday.
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« prioritizing the issues for the weekday.
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7. He made a rule to deal with the issues only allotted for the day.
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He made a rule to deal with the issues only (which were) allotted for the day.
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You as the parent must try to read their crying to be able to help them. This will
also help you assess your children's perception of your discipline. In many cases,
when a child feels that he has been punished wrongly, it is more difficult to
console him. He cried pathetically. Others may receive the punishment in a defiant

mood. when a child feels guilty and he is not punished or assured

of forgiveness, he is likely to feel insecure and timid. In such a case when
punished they may cry but quickly compose themselves and seek to attract love
from the parent. Children usually want the crisp and clean punishment followed by
fellowship rather than living with uncertainty.




@ As a result @ For example 3 In other words @On the other hand

20 & H= EMYLICH
2ororat Mot AZNE HE + USLICL

ou (as the parent) must try to read their crying (to be able to help them).
= EA =S read?| 2%
[=) = — =™

- F0l BAF 2O 0|0|T 38 2F

- TRALZ AEE as. HAME AL E as= XM (~2M). SH AZ2(4 ZE 33878 =
- G2 REEM (ASS =RoFE 5 7] flEl, AsS 571 fldl) AS((0t015)2 282
giegsE=Este s, Oldsts) &S SHOFEh otrt

2. This will also help you assess your children's perception of your discipline.

<2% 71X 24>

This will also help you assess your children's perception of your discipline.

=0 SA 250 =R assess?| =%

v #0f helpSA 20| B22 o|ZoiM 584 2Y

@ OIA(OtolE2l 232 Olsfste )2 =3t Gilg Frtster =88 & Aol
@ O|A2 ot Fulo] "@4e| 2= (your discipline)i CHet &4l 00|52 214
(perception, X|ZhE "7l =22 & AO|CL

3. In many cases, when a child feels that he has been punished wrongly, it is more
difficult to console him.

<2% 1= 24>

1) (In many cases),

- B2 E,

o] =
rlo

2) when a child feels that he has been punished wrongly,




ol SA S 0|(B A that)

- AZESl BAPY, ROl SA 8X0j2 0|0 3¥A 2F.
@ that he has been punished wrongly

- HAE thatO] BHOZ AIE

- (O 2I0])7t BE A (wrongly) X EEHOt TICHE 24
@ oM - ot OO|7F RGSHA MEL UL =2 [[H

_I_

3) it is more difficult to console him.
7tFE0 A Y]
- 7f—|—01 ZFO|(to R AN =&
(OI0])E {IZBH= Z(console)2 H< OfFLCH

4) HHsHM - B2 AMHOA, 0= OFO|7t RESHA MER-QUCID =2 [, 1 00| fI=2
St= A0l o ESH (xERES oiA —?—E OfO|HL} XS Ot EUAEHLE FIoHA N
HEOr 2= OF0|E EHale A0l O &St= )

4. He cried pathetically.

<2% 1= 24>

He cried pathetically.

0 SAH BA

- FO| BALZ O|ZOT 184 27,
= )

- OE (BR MHEoCt) Of X Z A (pathetically) 2CHEZSALH.

5. Others may receive the punishment in a defiant mood.

<B% IE 24>

Others may receive the punishment in a defiant mood.

_7['{_01 E)\|. EJH

- 0| SAF SHO|Z 0|R0T 3%A 2%

- CtE OI0|&2 Oiotz HtstE 7|22 E(in a defiant mood) 1 X &(the punishment)=

|0

RUEOE RYSHAH HEL2 Of0|&2 fMEH 2HLE gtdst= 7|2
ICH= o

5. , When a child feels guilty and he is not punished or assured of
forgiveness, he is likely to feel insecure and timid.



@ As a result @ For example (3 In other words @On the other hand

A‘|>

<E‘§ T= =

HI

when a child feels guilty and he _is not punished or assured of forgiveness,
0 SAHE0 0| SAF 20

he is likely to feel insecure and timid.

0l A 20

*x Ol 2F0AM S?EEHA and?t L L CH
SHUTYEA and CHE0| SAMS RFE Z &HOF L CH
S &AL andb20 (FO) SAZE 7] 20 EE(E )Y

1) when a child feels guilty and he _is not punished or assured of forgiveness,
0 SA 20 SE FOf SA 20

SUNEILTIE DE<

*AlZte] BAEE Ol FEAL whenO EO[1,

sHE
2o & Iiel 280 HEZE SEHEED)YS & = AUSHLCL
- ot OfO|7t ZMZES L0y O7F HE 2K &AHLk(not punished) 8A ZQUCH= 2
(assured of forgiveness)O| 812 [,
2) he is likely to feel insecure and timid.
FOo| AL EHO
. ==
=
- be likely to ~ : ~ St&{= ZAFO0| ULt ~5t7| L}
- J= 29 H(insecure)stHLE Ao HEltimid) =4S 7HX8{e 7tsd0| /ULCH
"-?f _O|Ho| BHOIAE RO QEHE RESIA MY (80| LoD, o 2EEH
'- = 222 =0 HES 2R Y= WWEO Ofjsf Lt U&L|Ct
@ As a result 21t o2 ®@ For example 0|E =0f

® In other wordsCtA| Z3iA|  @On the other handZHHHOf|

e HEs HZ0{E @™ "On the other hand”® 7t5440| E&LICH
O HFEX|= AU AWM 28 d4mHEQSL T

6. In such a case when punished they may cry but quickly compose themselves and



seek to attract love from the parent.

<2% 1= 24>

£ -

b THO| 7 FRo £ 20| NI FLAULICH

' T EFO X Z0s FSAZL A7| 2o HHARl FFE F Mmool U
c}.

(In such a case) when punished they may cry but quickly compose themselves
=0 sA SH SA =50

and seek to attract love from the parent.
EAF 2X0f
- 1

* S8 buto] 20|11 SAZF EYLICE deiM SE2(E)-LIC

1) when punished they may cry but quickly compose themselves

=0  SA SH SA 2o
(1) when punished
- AR ZATES HFS
- when the children were punished

i F 5
-> when being punished (F0{ %42k
-> when punished (being 42
- 71 Ot0|=0| ME ot Ms
(2) they may cry

zof sS4
- 1Se 2 45 Utk
(3) but quickly compose themselves

EA} 250

- SIX|2 (AE2) We| O5 XS +&(compose)BtCh(288S HELE %)

(4) and seek to attract love (from the parent).
EAF 2X0

- 59| ERREE MRS T2 L (to attract love) BtChseek, AH=LChH

=3

ot BYeHA ME 22 oojE2 FeEiv| gE HHEo|, EXRS o Of0|S2 MBS #S
l W 27l= sHx[T, & 258 2K #52 ottt YU

7. Children usually want the crisp and clean punishment followed by fellowship rather



than living with uncertainty.

<2% 1= 24>

Children usually want the crisp and clean punishment followed by fellowship rather than

70 SAt =50

living with uncertainty.

1) Children usually want the crisp and clean punishment
ol SA 2x{of

* O] EH0| A El andE HEAb(crisp)2t @8 Ak(clean)S A A=
= Cl o
==

o
- O}O|E2 E& St (crisp, HHAYSEL) MR SHclean) ME

2) (which were) followed by fellowship rather than living with uncertainty.
- 224 Y H0|AM Ab= H(living with uncertainty) 2CF RCHZ (fellowship)O| 2

(punishment)

@ B 82 @ RS SIX| YYEHE HUSHA MY e
ST O MEWX| ohe ofo|Sof CiEt LHLICt

W 2% chA fefel EXIE 2REULL

5.
forgiveness, he is likely to feel insecure and timid.
@ As a result ZIt¥o=2 @ For example®|E £0f

@ In other wordsCHA| a8} A @On the other handdtHof
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Year after year, a survey sponsored by Scotland's Centre for European Labour
Market Research finds the same thing: If you want to be happy in life, be
happy in your job. Okay, but what will make me happy in my job? Some
researchers at the University of British Columbia in Canada have come up
with an interesting way quantifying the seemingly unquantifiable..

(A) For example, trust in management—by far the biggest component of job
satisfaction—is worth as much in your overall happiness as a very substantial
raise. Say you get a new boss and your trust in your workplace's
management goes up a bit.

(B) By analyzing life-satisfaction surveys that consider four key factors in job
satisfaction, they have figured out how much each is worth when compared
with salary increases.

(C) Even that small increase in trust is like getting a thirty six percent pay
raise, the researchers calculate. In other words, that will boost your level of
overall satisfaction in life by about the same amount as a thirty six percent

raise would.
® B -® - © ® ®-®-©
® (©-® - ® @ (©-®-®
634
Ty oMol =a M %=
n
Zo| 2ME = EHYLC
ool 2& Che0| 20| S0{Z AME M= ZH YLD

quantifying the seemingly unqualifiable.

Year after year, a survey sponsored by Scotland's Centre for European Labour Market
Research finds the same thing: If you want to be happy in life, be happy in your
job. Okay, but what will make me happy in my job? Some researchers at the
University of British Columbia in Canada have come up with an interesting way




1. Year after year, a survey sponsored by Scotland’'s Centre for European Labour Market
Research finds the same thing:

<2 1= 24>
(Year after year), a survey <(which was) sponsored by Scotland’'s Centre for European
0
Labour Market Research> finds the same thing:
SAE 5O

S0 7 BEOIRIE £A0|(RAL HEANE BEE KW e RRO| FUCh

1) a survey finds the same thing:
ol SA 2o

0 A FHO0{2 O|FO0X| 34 &%
2()0l %0l 57, X7} BF 4Y

EE

=
ZAHa survey)E Of2flet Z2 £ Z'2 Z(the same thing)2 &AM CH(finds).

ok 4

2) a survey <(which was) sponsored by Scotland's Centre (for European Labour Market

Research)>

* AL ALS B2 I

@Oz AL B=Eo2 HAE FE M= A &0 O
AL HE e 20] SMM FAE FE E

- (FEH 3 AE HFE fleh AZEWE MEHO Qs X| 22 (sponsored)) EAt(survey)

3) sfM - Ofd, (RE = AlE AFE It 2ZEUE MHO| Qs X|&EHE2(sponsored))
ZAHsurvey)= EE2 AS LA}

2. If you want to be happy in life, be happy in your job.

<z% 71X &4M>
If you want to be happy in life, be happy in your job.

71 >

1) If you want to be happy in life
oref S0l oA dSsHX|Z RIS

2) (you should) be happy in your job.
- gl M Y)OIM BB XIYAIL.



3. Okay, but what will make me happy (in my job)?
Fol  BA 2X0 =2
-0 SAF BHO| 82X H0|Z 0|R0|T 5
- what2 2|ZARL F0f &S A0 St= o|2CH
- EC} SR 20| L2 ER0|A e ISk

1z

4. Some researchers at the University of British Columbia in Canada have come up with
an interesting way quantifying the seemingly unqualifiable.

<2 1= 24>

Some researchers (at the University of British Columbia) (in Canada) have come up with

z0f SAf
an interesting way <(which was) quantifying the seemingly unquantifiable.>.
22X 0]
i |

% come up with
- "come up with something"2 "0 Zi(something)2 ZXOLHC}, HZSHLHC} Li=CtHets
SQUCLEH = to find, to discover

oo =gto2 MZIStH O|ai7t [ TLICt.
2 7HX| A (with something) (LHOIAl) & 2ClHcome up) -> come up with
SHE-= &3) "HOtLLE, s Wctet= 0| EL|Ch

zof = 2%
- Z0l SAF 2XHOI2 0|R0IX| 38 23
- 50| ARYSS BO|2Q WHES HOpHCHeome up with, Mol WACH, HSHCH,

2) an interesting way <(which was) quantifying the (seemingly) unquantifiable>.
quantifyl| =%

antlfylng )7t BAE FOIM HALE Jf“jl A= AE ol

b 2= Ql0f(unquantifiable) 20| Z(seemingly)g &35t (quantifying)~~ =

3) 8iA - (FHLtCHO| QU= British Columbia CHEHO|) HIRRAEL 25t & 4+ g0
(unquantifiable) 20|l A& &3}5l=(quantifying)~~ SO/22 WS M2 CHcome
up with, 11Ot WAL

FojE 2R BMRSUC
o Foixl BF Ct30| S0IZ 22| £ME2 Fopof Bt
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" (A) For example, trust in management—by far the biggest component of job
'l. satisfaction—is worth as much in your overall happiness as a very substantial
raise. Say you get a new boss and your trust in your workplace’'s management

goes up a bit.

1) For example, trust in management—by far the biggest component of job satisfaction
—is worth as much in your overall happiness as a very substantial raise.

<2 1= 24>
(For example), trust in management—by far the biggest component of job satisfaction—
0
_is  worth as much in your overall happiness as a very substantial raise.
SAH E20

(1) trust in management—by far the biggest component of job satisfaction—

- HFl= SENME 7t 54, 25 2¥2 St= 7ISYLLL

- by far= the veryQt & Z[d5& AZ5t= FAL

=T (job satisfaction)2| EZ(by far) 7t& 2 K22( the biggest component)?!

A
H
AQ9| AME|(trust in management).

PN|
S
7

(2) trust (in management)
0

substantial raise.

- 0] besAt HO|Z O|R0{X| 2¥€A &%

- as ~ as Hug

worth as much in your overall happiness as a very
Af 20

O |

- as much in your overall happiness as a very substantial raise.
:OtF(a very) A&st (QJ:L)OM*(substantial raise)2tE E2A19| ME(in your overall
happiness)ofl (ZkXIZ} QULH).

(3) trust (in management) _is  worth (much) (in your overall happiness)
70 SAH EO

- as ~ as HugE Neot 2%,

- 3G9 Mel= gulol HMHe =0 ot ZHK|7h QUL

4) HAH A - (A) 02 SO, ZY ME_NQY BEZo T Y 2 KAt OfF
() ( ) =2 = 1 o | =
=

| —
At 25 QM (substantial raise)TtE EAIO| HE0| FREL

2) Say you get a new boss and your trust in your workplace’'s management goes up a



bit.
<2% 1= 24>
Say (that) you get a new boss and your trust (in your workplace's management)
Zol S 2X0f =
goes up a bit.
SAE =H0

(1) Say (that) you get a new boss
Fof SA 2o
- 70| AL X2 020X 3H4 2%
A | =]

- ol Mz2 dEts LA AL

-

(2) and your trust (in your workplace's management) goes up a bit.
0 SAE =80

- 0] SAF FHOIZ O|R0{X| 34 &%

- go up : O|0{ &AL, /|2 ZEH7ICh

- (A 480 theh Aol Me[E7t o7k ZEfZirtn U FEA|Ct

(B) By analyzing life-satisfaction surveys that consider four key factors in job satisfaction,
they have figured out how much each is worth when compared with salary increases.

<BE 1Z 24>

By analyzing life-satisfaction surveys that consider four key factors in job satisfaction,

they have figured out how much each is worth when compared with salary increases.
ey T8 2 5 8l0(unquantifiable) 20l= AS +F&5HE(quantifying)dts & & (by
47 analyzing)g 29%t=s 20| Lte7| hE0o, o 0| FOoF 2T Cha0| Ltetof

¥ = AS EgUCh 2 ZE80| off Z-UX otEAUSLC

1) By analyzing life-satisfaction surveys <that consider four key factors in job
analyze®| Z%of ol SAM S0

satisfaction>,

SHHAL life-satisfaction surveysE FTHFE HEAE, that2 T4 2Of
A7HX| Z8Q% 202 n&dte) a-UELE HEXA(life-satisfaction

O
I
—F-'_—M.% ZM,



ey Ol =T0I Lot U= A= 25 AStAT ofefe] Fa5 FEoi=EAE &L

‘ v (http://www.ydyo.hacettepe.edu.tr/snv_orn/112 final.pdf)

o710 Liet A= HEY T
@ trust in friends.
@ trust in management.

In

0| 47HK| QAL

® high quality of work.
@ having a high income
2t E|of AL CH

2) they have figured out how much each is worth (when compared with salary
ol BA =5
increases).

- F0| SAF 2X0|2 0|R0{X 384 2

(1) how much each is worth :

FO| A
- UFOEE, UTOEER TSI
- ZZHEAY THEQ| 47HK| 240 otLt ZHX] J=X],

(2) when compared with salary increases.
- TATEIN ZATES ZFS

- when each i

=
3 =

(%]

compared with salary increases.

ofn |

-> when being compared with salary increases.(F=01 &)
A
o

2

-> when compared with salary increases.(being

- A7l fa)0 ¥e oldar HnE o

T aEs F o e AE Y WwEe MARI M2 of 2Fo| FojT 2F
l Ch30ll S0 & = ASLICL 2N BEH2 HIZ @HYS &€ = ASLICL

(C) Even that small increase in trust is like getting a thirty six percent pay raise, the
researchers calculate. In other words, that will boost your level of overall satisfaction in
life by about the same amount as a thirty six percent raise would.

<2% 7= 24>
Even that small increase in trust is like getting a thirty six percent pay raise, the
researchers calculate. In other words, that will boost your level of overall satisfaction in



life by about the same amount as a thirty six percent raise would.

1) (Even) that small increase (in trust) is like getting a thirty six percent pay raise,
ol SA}

- that2 YAb increase(37HE THF= X[AHEAL d~~ B7L
- AR (AR[EQ) O HE2 JIIEZAE 36% YSH4S &= At OpEHIEX|O|CH,

2) the researchers calculate.
- 2t AFXS S ALHCEH

* 27| 2 2Z22 HE

the researchers calculate (that) that even small increase in trust is like getting a thirty
70 SAt =HO| (A that)

six percent pay raise,

3) In other words, that will boost your level of overall satisfaction (in life)
zol A 250]
by about the same amount as a thirty six percent raise would

(1) In other words
- CHA] TSM(CHE 2 2)

(2) that will boost your level of overall satisfaction (in life)
ol A 250]
- FO| A FHOE O|R0X| 3d4 2%
0]

- AA@RXE RS B7he Filol HErHel de RO &5 02 AOILt

(3) by about the same amount as a thirty six percent raise would (boost your level of overall

satisfaction).

% the same A as B
- BEtE2| A

- 36% (=)Mol OE PHEN 22 ¢ =,

A
- 22| g, AHMEE F7he Flo| Hutxol MHUEREo £FES (36% YFAYO|
O REa 22 ¥ YEE) B0{28 Ao

2% 240 BREUC

dEHE 0¥ B - (W - QYU
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Market Research finds the same thing: If you want to be happy in life, be happy in

Year after year, a survey sponsored by Scotland's Centre for European Labour

your job. Okay, but what will make me happy in my job? Some researchers at the
University of British Columbia in Canada have come up with an interesting way
quantifying the seemingly unqualifiable.

(B) By analyzing life-satisfaction surveys that consider four key factors in job satisfaction,
they have figured out how much each is worth when compared with salary increases.

(A) For example, trust in management—by far the biggest component of job satisfaction
—is worth as much in your overall happiness as a very substantial raise. Say you get a
new boss and your trust in your workplace's management goes up a bit.

(C) Even that small increase in trust is like getting a thirty six percent pay raise, the
researchers calculate. In other words, that will boost your level of overall satisfaction in
life by about the same amount as a thirty six percent raise would.

* % 0| X2 #=YLIC}

[B] By analyzing life-satisfaction surveys that consider four key factors in job satisfaction,
they have figured out how much each is worth, in terms of salary increases. For
example, trust in management- by far the biggest component of job satisfaction- is
worth as much in your overall happiness as a very substantial raise. Say you get a new
boss and your trust in your workplace’s management goes up a bit (say, up one point
on a 10-point scale). Even that small increase is like getting a 36 percent pay raise, the
researchers calculate. In other words, that will boost your level of overall satisfaction in
life by about the same amount as a 36 percent raise would. Conversely, if you lose a
similar amount of trust in management, the decline in your overall happiness is like
taking a 36 percent pay cut.
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Look at the following list of numbers: 4, 8, 5, 3, 9, 7, 6. Read them out loud
and memorize that sequence. If you speak English, you have about a 50
percent chance of remembering that perfectly. If you're Chinese, though, you're
almost certain to get it right every time. This is because pronouncing them in

Chinese takes shorter time. In addition, the number - naming systems are in




Western and Asian languages. In English, for example, they say fourteen and
sixteen, so one might expect that they would also say oneteen and twoteen.
But they don't. The number system in English is irregular. In contrast, Asians
have logical counting systems. Those differences mean that Asian children learn
to count much faster and perform basic functions better than Western children.

4
Being good at a may be rooted in the different © systems.
Q ©
) pronunciations counting
©) mathematics language
® languages name
@ logic culture

1. Look at the following list of numbers: 4, 8, 5, 3, 9, 7, 6.

<2¥ 7= 4>
Look at the following list of humbers: 4, 8, 5, 3, 9, 7, 6.
sAE =FHY

- F0{7F 80| B2 SAt7 Liet HEE.

|
- b2 350 A= <AES 2k 4853976

2. Read them out loud and memorize that sequence.



loud and memorize that sequence.

£ SHol A 5¥ SA 37

3.

SATEA andCHSO| SAH7E 20 & 2F0| H4E &
read A out : AS ZAZ|2 QCt
AAEE 2 222 90 1 =MES 7|95zt

o

=
e
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If you speak English, you have about a 50 percent chance of remembering that

perfectly.

<

2% Fx 24>

If you speak English, you have about a 50 percent chance of remembering that

Ol A 5H0 0] SA =50

perfectly.

FEO| =3A7F 871 WE0 if7Fg ol ofL 2

Aol FAEN
o
=

—
erefois J|oig JHs 42 ofso

- TroF G0l O ALESICHH(RTHCHE), O HAE
O|C}.
4. If you're Chinese, though, you're almost certain to get it right every time.
<=¥ 7= 4>
If you're Chinese, though, you're almost certain to get it right every time.
F5  Hof =z Hof
SEX|2F BHef G4l S=el0|2tH, YM2 BE AS Aol s AT = ULh
g :
although 2} though2| 3&Zat Xx}o|H
1) 35 - £ O B2 o|nE AL HE - X|BtE,
(Although/ Though) it is a little windy, it is pretty warm.
- = O A 7ts.
- H[E BIEO| =5 AKX, ZM 7}t TESCE
2) XtO|F - althoughe FHALZEH AFEE|X|DH thoughe HE 0|Ne TYHALE E|X|TH

FAOPZ|E SHEY UM A, BEXRe X2 7HE)

;I

=, BEAL althoughe ZF02H AL O] 7HSSHX| T BAZ2E AL E|= though= =0




o AFEZFS
It is pretty warm. it is a little windy (though / although).
- O] EFO|A “though"@t AtE 7hs. thoughZt BALZ AR E|O 2F B0 AMEE.

- M= XA, HHEO| =85 QUL

5. This is because pronouncing them in Chinese takes shorter time.

This is <because pronouncing them in Chinese takes shorter time>.
Fof SA 7z S A 25

- LBt AAS(AS)E ST02 E3 ot A0l AlZHol & XA Z2|7] [{Z0|C}.

6. In addition, the number - naming systems are in Western and Asian languages.

<2¥ 7= 4>
In addition, the number - naming systems are (in Western and Asian languages).
=0 SA
- Eoh MY OfAlor 210f0l= =2 FE MA(=At0| O|&= E0l= M4, the number -
naming systems)7} QUCH,

7. In English, for example, they say fourteen and sixteen, so one might expect that they
would also say oneteen and twoteen.

<2% 7= 24>
In English, for example, they say fourteen and sixteen, so one might expect that they
ol A 2x{of ol SA B0

would also say oneteen and twoteen.

- 0l 20, Yoo ME, D S(O|=2E)2 fourteen(14), sixteen(16) 0|2t ZSHC}
d2fM(so) A=(0|=2=)0| AEl(oneteen, L4) FEl(twoteen, O|4&)O|2tx & Zio|2f Of &

g == AS AOJL}
8. But they don't. The number system in English is irregular.

<2% 7= 24>
But they don't (say). The number system in English is irregular.
0l A 0 SAF 20
- SHX|2H 252 (A" A) YOSt @t ool =i MA= EqAE YL




9. In contrast, Asians have logical counting systems.

<2¥ 7= 4>

In contrast, Asians have logical counting systems.
ol SA 250

-HHEHOY|, OfAlOF 210{= =2|H 2 HAE 7HX1 UASHEL

1

10. Those differences mean that Asian children learn to count much faster and perform
basic functions better than Western children.

<2% 7= 24>
Those differences mean that Asian children learn to count much faster and perform
= SA SHO(HAE that)

basic functions better than Western children.

1) Those differences mean that ~~
ol SA BXof

- O|2{3t XIO|HE2 thatO|SHE 2|O|gtL|CtH

2) that Asian children learn to count much faster and perform basic functions better
0] EA} o =X A} ox
o i B | o d o b i |

than Western children.

- OFAJOrQl OFO[ZF (M OIO|ZEL) Hot= Ao count)s ®2| HiRD 7|2HQl o=
(basic functions)E O & % & == QUCt= A
3) dfl4 - Ol2{et XjO]= OfA[OF@l OFO|7F M OtO|SECH Hote AS EiE| Hied 7|=
Mol B42 O T 2% 2 4 ASS onjgc
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4
Being good at a may be rooted in the different © systems.
o ©

@pronunciations&& countingd!
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Late one night, Catherine Ryan Hyde was driving in Los Angeles. In a
dangerous neighborhood, her car caught on fire. She got out. Three men ran
toward her. She immediately felt afraid of them. They didn't hurt her, though.
They put out the fire and called the fire department. When she turned to thank
them, they were gone. Years later, that event became the subject of her novel
called Pay It Forward. She never forgot that event. In the book, a teacher asks
his students to "think of an idea for world change and put it into action.” A
boy named Trevor suggested doing kind acts for others. They used his ideas.
Trevor's idea works like this. Someone chooses three people and does
something nice for each one. In return, the recipients of that favor must do
favors for three more people. In 2000, the novel inspired a movie.

@ The Kindness of Strangers

@ A Trauma in Early Childhood

® A Movie which Influences Real Life

@ An Unintended Violation of Someone's Idea



1. Late one night, Catherine Ryan Hyde was driving in Los Angeles.
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(Late one night), Catherine Ryan Hyde was driving in Los Angeles.
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2. In a dangerous neighborhood, her car caught on fire.
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In a dangerous neighborhood, her car caught on fire.
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3. She got out. Three men ran toward her.

<2¥ 7= 4>
She got out. Three men ran toward her.
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4. She immediately felt afraid of them.
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She immediately felt afraid of them
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5. They didn't hurt her, though. They put out the fire and called the fire department.
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They didn't hurt her, though.
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6. They put out the fire and called the fire department.
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They put out the fire and called the fire department.
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7. When she turned to thank them, they were gone.
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When she turned to thank them, they were gone.
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8. Years later, that event became the subject of her novel called Pay It Forward.
Years later, that event became the subject of her novel (which was) called Pay It
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Forward.
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2) that event became the subject of her novel <(which was) called Pay It Forward>.
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9. She never forgot that event.
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She never forgot that event.
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10. In the book, a teacher asks his students to "think of an idea for world change and



put it into action.”
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In the book, a teacher asks his students to "think of an idea for world change and
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11. A boy named Trevor suggested doing kind acts for others. They used his ideas.
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A boy <(who was) named Trevor> suggested doing kind acts (for others).
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12. They used his ideas.
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They used his ideas.
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13. Trevor's idea works like this.
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Trevor's idea works like this.
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14. Someone chooses three people and does something nice for each one.
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Someone chooses three people and does something nice for each one.
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15. In return, the recipients of that favor must do favors for three more people.
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In return, the recipients of that favor must do favors for three more people.
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16. In 2000, the novel inspired a movie.
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In 2000, the novel inspired a movie.
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It's long been part of folk wisdom that birth order strongly affects personality,
intelligence and achievement. However, most of the research claiming that
firstborns are radically different from other children has been discredited, and it
now seems that any effects of birth order on intelligence or personality will
likely be washed out by all the other influences in a person's life. In fact, the
belief in the permanent impact of birth order, according to Toni Falbo, a social
psychologist at the University of Texas at Austin, comes from the psychological




theory that your personality is fixed by the time you're six. That assumption
simply is incorrect. The better, later and larger studies are less likely to find
birth order a useful predictor of anything. When two Swiss social scientists,
Cecile Ernst and Jules Angst, reviewed 1,500 studies a few years ago they
concluded that "birth order differences in personality are nonexistent in our
sample. In particular, there is no evidence for a firstborn personality.”

@ A firstborn child is kind to other people.

@ Birth order influences a person's intelligence.

® An elder brother's personality is different from that of his younger brother.
@ Birth order has nothing to do with personality.

1 It's long been part of folk wisdom that birth order strongly affects personality,
intelligence and achievement.
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It's long been part of folk wisdom that birth order strongly affects personality,
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intelligence and achievement.
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2. However, most of the research claiming that firstborns are radically different from
other children has been discredited, and it now seems that any effects of birth order
on intelligence or personality will likely be washed out by all the other influences in a
person's life.

<2% 7= 24>

However, most of the research claiming that firstborns are radically different from other
children has been discredited, and it now seems that any effects of birth order on
intelligence or personality will likely be washed out by all the other influences in a
person’s life.
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2) and it now seems that any effects of birth order on intelligence or personality will
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2) that any effects (of birth order) (on intelligence or personality) will likely be washed
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; all the other influences (in a person's life) will likely wash out any effects of birth
order (on intelligence or personality).

3) Ol (XI‘golLt elgof chet Bl +=Afel) mat= (Helel &9 tf
A BOE ALz =l

M
fo
ki
m
Hu
ro
o
=

3. In fact, the belief in the permanent impact of birth order, according to Toni Falbo, a
social psychologist at the University of Texas at Austin, comes from the psychological
theory that your personality is fixed by the time you're six.
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In fact, the belief in the permanent impact of birth order, according to Toni Falbo,
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2) comes from the psychological theory <that your personality is fixed by the time
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you're six>.
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3) the psychological theory <that your personality is fixed by the time you're six>.
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4. That assumption simply is incorrect.
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That assumption simply _is incorrect.
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5. The better, later and larger studies are less likely to find birth order a useful
predictor of anything.
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The better, later and larger studies are less likely to find birth order a useful
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6. When two Swiss social scientists, Cecile Ernst and Jules Angst, reviewed 1,500 studies
a few years ago they concluded that "birth order differences in personality are
nonexistent in our sample. In particular, there is no evidence for a firstborn personality.”
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When two Swiss social scientists, Cecile Ernst and Jules Angst, reviewed 1,500 studies a
few years ago they concluded that "birth order differences in personality are nonexistent
in our sample. In particular, there is no evidence for a firstborn personality.”
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2) they concluded that "birth order differences in personality are nonexistent in our
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sample. In particular, there is no evidence for a firstborn personality.”
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® Birth order influences a person's intelligence. £t =A= X|40| ¥z 0OJXICH
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He knew, though, he would never become an Olympic runner, so he looked for

other sports that he could play.

Many people have faced great obstacles in their lives but have found ways to
overcome and actually benefit from these obstacles. For example, Greg Barton,
the 1984, 1988, and 1992 US. Olympic medalist in kayaking, was born with a
serious disability. ( A ) He had deformed feet, his toes pointed inward, and as a
result, he could not walk easily. Even after a series of operations, he still had
limited mobility. ( B ) Even so, Greg was never defeated. First, he taught himself
to walk, and even to run. Then, he competed in his high school running team. (
C ) Happily, he discovered kayaking, a perfect sport for him because it required
minimal leg and foot muscles. Using his upper body strength, he was able to
master the sport. ( D ) Finally, after many years of training and perseverance,
Greg made the 1984 Olympic team.
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He knew, though, he would never become an Olympic runner, so he looked for

other sports that he could play.
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2) so he looked for other sports (that he could play).

Fol BA 3o
- thatO|St= MAYAL other sportsE FHF= HEALE, that2 584 2|
- RN 37 B 4 Ye OH2 AmXE R

=

-

*0| 20| S0{Z2 /XE H= EHYLICH

1. Many people have faced great obstacles in their lives but have found ways to
overcome and actually benefit from these obstacles.
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3) and actually benefit from these obstacles.
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2. For example, Greg Barton, the 1984, 1988, and 1992 U.S. Olympic medalist in
kayaking, was born with a serious disability.
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For example, Greg Barton, (the 1984, 1988, and 1992 U.S. Olympic medalist in kayaking,)
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3. ( A) He had deformed feet, his toes pointed inward, and as a result, he could not

walk easily.
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4. Even after a series of operations, he still had limited mobility.
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5. ( B ') Even so, Greg was never defeated.
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6. First, he taught himself to walk, and even to run.
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First, he taught himself to walk, and even to run.
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7. Then, he competed in his high school running team.
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Then, he competed in his high school running team.
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He knew, though, he would never become an Olympic runner, so he looked for other
sports that he could play.

8. ( C ) Happily, he discovered kayaking, a perfect sport for him because it required
minimal leg and foot muscles.
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2) a perfect sport for him <because _it required minimal leg and foot muscles>.
w0l SA 25
i R |

- <AAEEeH2 x| Ch2let & 28] 20| WEN> oA HHo| AZEQl Ft

9. Using his upper body strength, he was able to master the sport.
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( D ) Finally, after many years of training and perseverance, Greg made the 1984
Olympic team.

<BE 1Z 24>
( D ) Finally, after many years of training and perseverance, Greg made the 1984
Olympic team.
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2) Greg made the 1984 Olympic team.
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